


$$\underline{\quad} - \underline{\quad} = \underline{\quad}$$


$$\underline{\quad} - \underline{\quad} = \underline{\quad}$$


$$\underline{\quad} - \underline{\quad} = \underline{\quad}$$


$$\underline{\quad} - \underline{\quad} = \underline{\quad}$$


$$\underline{\quad} - \underline{\quad} = \underline{\quad}$$


$$\underline{\quad} - \underline{\quad} = \underline{\quad}$$


$$\underline{\quad} - \underline{\quad} = \underline{\quad}$$


$$\underline{\quad} - \underline{\quad} = \underline{\quad}$$


$$\underline{\quad} - \underline{\quad} = \underline{\quad}$$